Math 105 TOPICS IN MATHEMATICS
SOLUTION FOR REGULAR HOMEWORK — X (04/17)
April 20 (Mon), 2015

Instructor: Yasuyuki Kachi

Line #: 52920.

[1] (6pts) (1) o rt = 423, (2) T 20 = 20219.
d 1 11 _ 10
6 () =+
d 6 3 5 2
1] (6pts) (1) —— (:z: + 2:(:) = 625 + 6a2.
d 7 4 6 3
(2) o <x — 3z* + :L') = T2% — 122° + 1.
d (1 , 1 4 1, 1\ 4 3, 1
(3) . (Ix 5% + - 30) =z 5 % + 5
[ITI1] (4pts)
d 1 9 __ 1 8 d 1 40 __ 1 39
O TH TR N A Pt T AT TR
[IV] (5pts)
O (S PP N I I +193+ Ot o’ + ot + o
dx TR TREEY TR 6 8 ]



[V] (9pts) Recall

24922 132 4424 4n? = g g2y g
3 2 6
Give similar formulas for
(1) 1P+ 28 + 3 + 4% + ...+ 0,
(2) 1+ 24+ 3+ 44 + - 4 0t and
(3) 15 4+ 25 + 3% 4 4% + .- + nd.
No work necessary.
[Answers}:
1 1 1
(1) B+22+3+483+... 40 = —nt4—nd+—n?
4 2 4
(2) TR T IRt P
5 2 3 30
(3) 1P +25+3 +45+ - +nd = lnG—i—in5—|—in4—in
6 2 12 12




